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Write short note on
(a) Amplidyne
(b) A.C. Servo motor
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Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |
Answer all Five questions from Group C, each question
carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |

P.T.O



O'Ld

2ihlep (B) 1e y uis (p)

Rla-R] (@) 18 4 500 (9)

—BR| al] DR 2h DRJR|Erl e s (@)

9 18 09 (®B)
1a1owoyoe] () SI (,B+8)/e JO wuoysuel], doede] asroAuI Y], (1)

SOIYOUAS (®B)

:UO 9JON 1OUS 9N “TT (B+9) /1 (2)

(e9) /T ()

(T+9)(1+8)S / € = (S)H(9)D (€+5) /1 (p)

“Rpr Pl 2rppfRI (©s)/1 (k)
1® Blabsth dhbal3 h 1IRB DER|I1IE] |2 plbe13 RILhIL 1 0 ()

(T+S)(1+S)S / € = (S)H(S)D (e+s) /1 (p)

uonounj I9Jsuer) (e-5) /1 (0)

dooj uado Surmorjoy ay 10y 10[d 1SIbAN yo193S (e+s) /1 (q)

(e-s) / 1 (®)

( ) SI .9 Jo wuojsuel], de[deT oy, (1)
1bkeie)dO

: pR| dbbb & hodb| PbRhe @B)IbR
(01+ST+St+:S) / (T+S) 30T = (S)H (S)D 0Z7=0ZXT - suondo

—% D5 pRjlter 1¢ DBRR|Itl] SUIMO[[0J 9} WOIJ JOMSUE J[(BIINS ISOW A} SO0y |
2 IrlRh® 1b IR}REIE PRl KHIM V-dN10ouo

990S.LN 61 0Ss0¥91 990N (4 050991



1640502 18 NT5066
—i
— A\ ANMN—,
| R R, v,
§] Vi ¢ Co_
i N 4

10.

% fagq AAcas M faar ™ 2| e
FfIHRoT F1d R | dURIeR & fawarR &l
e ARATS AM Ud °gRT i S 3TScyc
ARATS A |

OR (312141)

Explain the terms
(a) State variables
(b) Observability

fr=ferRad usl &1 awsmi—
(%) €< ARATN
(@) Ifsoafaferdt

Apply Routh stability criterion to determine stability
of
G(S) H(S) = 10K (S+2) / (S*+45™+25+10)
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(i)
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(iv)
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a/(s+a’) BT 3799 YT ¢T=aBIH
BIdl o—

(31) cos at

(9) sin at

(|) cos h at

() sinh at

Which of the following test signal is best
utilized by stability analysis

(a) Impulse

(b) Step

(c) Ramp

(d) Parabolic

fr=faRaa & @ &9 91 2 Riesra
MR TR @ gRT 999 36T
SUAig ghar 8 —

(a1) 7w

(@) wu

(|) Y7

(?) uRTEIfer®

The transient response with feedback system
(a) Rises slowly

(b) Rises quickly

(c) Decays slowly

(d) Decays quickly
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GROUP -C
Answer all Five Questions.
o . . 6x5=30
! dfg 9ol @ SR < |
7. Find Inverse Laplace Transform of
F(s) =4S/ (S+1) (S’ +45+5)
6

F(s) =4S/ (S+1) (S’ +4S+5) &I g=9d oTqerd
STBIH FTd BN |

OR (372rd1)

Using Laplace Transform, Solve the following

equations with zero initial conditions -

d’y/dt +3dy /dt+2y =5

ATYATH GBI BT SUAT Hd gU I
IRfS wal @& e fafaRaa afewor
Pl TA P

d’y /dt +3dy /dt+2y =5
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(vi)

(vii)
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Ql &difd fS-1®T 19 H3: ATd B2
Hofi GAIRG 2, TS NG A
Ab1d & gRT IRV 49 g8l —
(31) A+B
(@) A*B
(|) A-B
(?) A/B

The transfer function for Tachometer
E(s) / O(s) is:

(a) K

(b) KS

(c)K/S

(d) KS?

Uh CHIHICY © STTHR Bh I+
E(s)/ 6(s) @T AT BRIT—

@) K

(¥ KS

(| K/S

(®) KS’

The type of a control system is obtained from
................. transfer function

(a) Open loop

(b) Closed loop

(c) Both Open loop and Closed loop

(d) None of the above
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Draw signal flow graph to represent following
equations-

X, = ax,

Xy = bx, +¢x,

X, = dx,
frr=ifaRaa afiavor &1 sgad &3+ & foy
Rra well a1 Efid —

X, = ax,
Xy = bx, +¢x,
X, = dx,
Test the following characteristic equation for

stability using Routh's creation-
28+ 357 +55+10 = 0
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(?) Sudaa ai

In an automatic control system, which
element is not used?

(a) Error detector

(b) Final control element

(c) Sensor

(d) Oscillator

% Jfehifed wwia ugfa § fFafalaa
H | I A1 dd &I SUAT 181 fhar
SITdT 87

(@) TR f¥eaer

(d) ®IsTd Hgidl dd

(W) 9=R

() 3R

The band width in a feedback amplifier

(a) Remains unaffected

(b) Decreases by same amount as the increase
in gain

(¢) Increases by same amount as the decrease
in gain.

(d) Decreases by same amount the decrease
in gain
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GROUPB
Answer all Five Questions.
< . . 4x5=20
! dfg 9el @ SR < |
2. Find Laplace Transform of t e
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@) are foare ugfa

(]) wies dglid LML Al

.................... is a part of human temperature
control system.

(a) Digestive system

(b) Respiration system

(c) Ear

(d) Leg movement

The initial response when the output is not
equal to input is called

(a) Transient response

(b) Error response

(c) Dynamic response

(d) None of the above
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